+H H
w W
2 a
g 3+ =+ % o
[21] Yo wn m wn
o = = o =
I E = E £ £ e = E
U 3985 Cable Tilt = 2 SPLICE «Q = CTS-2-24 « 9 CTS-2-20 Cable Tilt B © CTS-2-12 0, =) CTS-2-8
99,0/110,0 99,0/110,0 [~ ] == = a2 2 101,8_ [ 1998 - il 943_ [ ]920 87.3/92,0 [N] () a8 86, 1838 s e TT.5e 72,5
D] g o . - . D—€ . .
h3 DO: AC3210-44-R-NO 3d8 ® 13 17 6dB 19 25
_ 15 19 @ 23 27
AC6113 Cable Tilt 66,5778 56,0 74,0 68,374,3 67,3 69,5
110,0 108,0 97,0/108,0 > *> »
2,0/8,0 102,0 =
348 - 66/74 , _ TOF 72 ) _ _ T1£73 _ 71/70
CTs-1-6 @ Chr. Winthers Vej 13 ) Chr. Winthers Vej 17 Craglohi Chr. Winthers Vej 21 Chr. Winthers Vej 25
102,0 99,0 P
w o
3,016.0
® "
4 7
U 3985 & 2
Chr. Winthers Vej 12 3 £
e — w0 3+ g E-
a” el A To) To)
Dalste~ - & o +
) = £ BB ZE
e, cTS-2-24 DO CTS-2-20 Cable Tilt ™~ CTS-2-12 & cT8-2-8
1028 100.8 - A 9534 [ ] 93.0 8540830 [~ i =5 87 84,7 = s~ T84, 734
14 18 22 26
Y 16 20 bos @ 24 28
“ 68,0 78,8 67,5750 67,875,2 66,8 70,4
e | 68/74 69/73 70/74 /
™ ' P - = 3 £ e
ac Chr. Winthers Vej 16 Chr. Winthers Vej 18 " gt Chr. Winthers Vej 22 Chr. Winthers Vej 26 iy
E P
w (g
= 0 7
-~ = E
5] ) =
2 CTS-2-16 Gable Tiit o cTS-2-8
935, [ |91.2 84,4/91,2 |—[> - = 84,7, 79,7
2 ® e
X 9 7
y 8 6dB 7
69,4775 68,5 76,7
3 67/73 66/72
- . E
~ Chr. Winters Vej 9 o & Chr. Winthers Vej 7 . D
= ©
= -5
P CTS-2-16 Cable Tilt AT CTS-2-8
—_ 928 90,5 82,2/90.5 |_|> ” b3 84,6, 79,6
f e &
10 6
12 3dB 8
67,276,8 64 / 73 68,7 76,6
Chr. Winthers Vej 2 Chr. Winthers Vej 6 o
J P
7 S
ProjectName : . Frequency :
Glentevejs 282 - 1218Mhz
Glenten 121 8 Ant | Initials :
Reterence : n enne aug Jph
“ Date :
U 3985 Vagtelvej 1-3 | i08202




Forstaerker ID:

UV 32985

Kabel ID

Type A

Type B

Stiktype

Inderleder

Skaerm

Yderkappe

1A

X

FA bo-BleS

fo 2

lo, 3

1B

2A

X

FM pe-/S/es

1.7

2.2

26,3

2B

FM 18/ 1S

L&

1,5

3A

FH bo-Gs

/, 7

2,2

16,3

3B

EH 1B)irS

RS

15

4A

FYH to-tSs

/.*?

22

le, 3

4B

5A

FH éc%%;e‘

|72

22

0,2

5B

6A

6B

7A

78

8A

8B

9A

9B

10A

108

11A

11B

12A

12B

13A

13B

14A

148

Kabeltype A = Skum/Bamboo dialektikum

Kabeltype B = Masiv dialektikum




